STANDARI EIGHT o

5 ummmr:ss msmUCTmNs CAREFULLY _ '
l.. You have been gwen thts questim bookl‘el and a sepamte answer sheet. The questton bwklet oorlthms Si}

. .questions. _ . _ : b :
'_ I‘L.'Doanynecessm-rough work in mtsbookler_

3. When you have chosen your amiwr,mark non the ANS‘WER SHEET not in the qummn bookiet

210,

HOW TO USF THE .ANSWER SHEET .

Use onty an ordmary penctl

Make sure that you ‘have wnuen on the answer shmt:
' '_'“HJRNDEXNUMBER .
-.NAMEOFYDURSGIOOL g * s B

By dtamngadark line mstdelhecon'eclnmnbered bo:{es mzrkyour full Index Numt:-er(t e. SchmICudemm
and the. three-ﬁgure Candtdate s Number) in fhcgrldnear the top ofthe answer sheet e

i Donotmakeanymmksoumde the bur.m oo mees
I(ecp_vommswer slm'tas n:teanas poss:h[eandDO NOT FDLD IT

-

: Farem:h of the qmsﬂons I - 5{!, ﬁun'amswers are gwm The answers.are. letterca ﬁ. B C und D ln &uc’h ﬂscwky

ONE of the fomanswers iscomect. Chooee the: mrrectanswer : Bl Epdaany
On the answer shecl the oorrect answer I.S to be slmwn hy dmwing adark llne mslde the box m wluch lhelcmr 3"0“

havechnsﬂntswrttm NEiThd . B

Example: -

'lnttieQuestmn Booklet: -

34 .What is the number IS '3'6 ruunded of‘ﬁo the nearest tenth? . ¥

A BT e
‘B. 16

C. 15.8 S B o B
B, 20 v o I g ss Tihn

' ]he-mrrcclmmns”(f {15. 8)
'Ontheansmrsheet _ :

.{M [B] [C} [D} um] [B] 101 w} IA] iBI (o} EDi m {B] H (m ﬂm] [31 101 [m
" In the fourth set, theboxwtthme leﬁeernmedmmsmmted : T : i
YuwdarklineMUSTBEwuhmme me a

i 2. For each question ONLY ONF boxisto be rnarked m ﬂch setof four boxes

This qmtmn_-. paper wnsts_ts of ,.8 pnuted pages

'TURNOVER



oW

-~ 'B.
C. 252
D

~ Which of the following numbers istwo . -
3 hundredandtwnthousandandsm L
. thousandth? '
. A 2026000 .
B. 202.006

C. 202000.006

D. 220 000.0006

What is the valueof
54-3(9-2)+8x9+3?
. 63 5 s

15

78

'112

Whatisthe value of digit 7 in the product
of432 and 2027
A. 87264

B. 700

 C. 87000
. D. 7000

What is the valueof - -5' L
5(0.7° -0.37)+0.48+0.06?

-A. 2.8

B. 10

- C. 13
D16

In the year 2012 a:farmer harvested 144
. bags of maize. The following yearthe . . {
~ harvest decreased in the ration 3:4. What -
- was the total number of bags harvested
“for the two years? -
A 144

108 .-
. 288

Twelfth Febroary 2015 wasona
Thursday. What day will bc'l‘huwenth
Ju:ne the same yearq E

Friday -

Thursday

Sunday -

Saturday

o

7.

“Calculate the surface afea ofanopen . .

; .:cuboid whlch is lZcm Iong ch wtde ar.ld

oNnwp

Sowpg

6cmhigh.
.."336em?
432em?
336cm® .
432em?®

What is 29487.4509 rounded off to three
decimal places?. . ' '
129,487.450
9487.451
294874.509
29.487.451

'Tl_lr': frﬁctibr_is ?r %- 2_;; g— are {o be

- arranged in order from the smallest to the
- largest. Which one of lhe fullowmg is the

L.

' correcmrder'?
A 6524 L2456
-~ 7T 6.3°9 _ 39&?_
lC': "_'-..'“2“9‘.:_;5_-_'. . ¢ ]-)- ‘:'42-6,-4
5 '__9__-_3'6.? 38Ty
What is the sum ﬂfLCM of 24, 363nd
; 488ndHCFof12 lﬂand24‘?
A 144 -
 B. 150
C.: 138 . -
D: 216"
Wl“.tat.is-lwi;':ethe valqeo_f B
gof l_l ..5.3-)
3°13.5)79 |
SUESERE
s 5
6. 4
C. — D. —
4035 _ 10




12, Consiruct atriangle X YZ in whichline

‘XY=5cm angle XYZ = 86%and anglé” -
ZXY =55°. Dropa perpendicular from -
point Y to meet line XZ at M. What is .

'LhelengthoflmeYM"‘ :
A. 47cm- . B 6em
[__l' 4. lpm

¢ 52em

13. Inaschool gﬁfthepupils were absent

| I 5
on Monday On Tuesday 5 of thepupils

- were absent. It"there were twenty mure
pupils absent on Tuesday tharn on -

school? :
A 120 B. _480 :

C. 240 - D 72{)

14. ‘An empty carten has a massdf 2kg: 50 ° ;

sachets of Omo each weighing 250 grams-
fill one carton. What is the lotal mass of .
200 such carlv:ms"r EE :

A. 29(}0 tonmes '_ B '__29[} ‘_tOnnes‘l '
: C'." 2 9 l(mnieq

15. Thediagrambelowmpmseptatgbie_mat. ..
. Whatisitsperimeterinem? 00 .

0.84m

A\

A. 330cm’ B. 1080cm
C. 750cm D, 660cm -

- 16. At Onvango’s farm there are 60 cows,

150 sheep 240 chicken and 90 goats. [f '

- this information was to be represented on
- apie chart, whatangle would represent

the ditference Heiween cows and goats?

A 200 - B, 40°
C. 60° . D. 100

“D. 029 tonnes

17 Whal 1sihevalucofx 1ntheequauon? ey
3 2(x=6) -

e a4
_4 . 3
e osSk ¢ R A gl
MR I - 7
c. 2L . - p- &
TR B =y

| - 18. Wafulawalked fromhome tothe hospital

~ ataspeed of Skm/hr and took 1 hour”

1 s 3ﬂmm 'He later walked back home ata
Monday, ‘what is the populatmn of the k-

speed of 4.5km/hr. How long did the . -

.+ wholejourney. take‘? o
' _A. 2hrs 40min  B. 3hrs
C. 4hrs 10min  D. 3hrs 10min =

19 'I'he temperamre of ice was - 21°c The .

ice was heated until the final temperature -
-was 37% below the boiling point. ‘What
was the temperature rise? - :
‘A, 58% '
: -_B. 84%
. C. 63%
D. 1 6°c

2‘3 'Fhetable below showsthenmnher of -

- pupils in MUTHAIGA ACADEMY ﬁ'um
class one to class four fqr the years 20 1{]
2011, 2012 and 20]3

[CLASS§ 2010 { 2011 | 2012 | 2013

[Std1 {192 §202 {186 [ 160

td2 | 150 | 186 | 196 | 184

Std3 125 | 146 {180 | 188

td4 |175 }119 | 145 | 164

‘How many puplls who staned classone
- year 2010 reached class four in the ’
school?" : B gk
A 1647

‘B.. 175

C. 160

D. 145




a1,

1n the figure below line AB is: para.ﬁel tn
Aine CD : ;

Find the size of the reﬂex dngle rnarked X"

" A 86"
. B, 264°

C. 940

D 2740

32,

. D. 6

23.

What is the vd.]l.lt: qf.
72
(100-64)

-A-sales man earns a basic salary of - :
sks.1 § 000 per month. HealsoearnsS% )
coeamission on goods she sellsabove - 7
" shs.200 000. Inone month he earieda -
total of shs.27,000. Howmuchwasthe

A, shs.400 000
B. shs.600 000

otal sales for that mnth? o i

- C.-shs.240 000 -

D. ohs.227000 .

been made throug,h the hlock

' What is the vntume of thc wvoden

block?
A 9780cm? B. 14400-::1113
C ‘4620cm® D. 19020cm?®

25 - Tom, Thoimas and Ton‘y bought oranges-

_ in amarket. Tom bought Y oranges. -
Tn;my bought two and a half tiies what
* Tein bought. Thomas hbught three. -

- pranges less than what both Too and.
Towy bought. Whlch expression shows
- the total numbcrﬂf oranges bought by
the three. buys ? w3

A 6y-3 -

) E}.' Ty+3

C.7y-3
D Sy+3

26. ' The figure below shbws a ﬂéwer garden

in the shape of nght angled mangje anda.
senn-m.rcie T

zain_ .

‘What 1sthe area "of‘the ﬂower wdanf’

(Take x =-£}_' R
Al 12,51512-' B: 146157
:C.'_ 431% | ' _ '.-D*. 1758

24, ﬂwd:mg;am below showsa rﬁctangular g |
-+ woodenblock. -Acylindrical hole has




27

T i i "\;'

~Komen bought 300 mangoes at shs. 3 per. :
- mango. He later packed them in pllesof = £

" sixmangoespét pile and soldthemat |
shs. 30 per pile, Wl;at percemage proﬂt =

did Komen make‘? '

2 A 60% A .‘-... 1. .-'-. _-_.'_'5.) ; ; | _“"

28,
. days. ‘How much longer would. rt r.ake snx

B. 664%

C. 40%.
: b 33 L%

Elght men can weed a garden in twelve

° men workmg at the- same rate‘?

-._A. lﬁdays

g C 8 da}'s ' i

D. 13 days

_. Karanjai uses0.1 of his salary on rent,
0.25 on school fees, 0.05.0n food He
” also uses 0.5 of the remainder on -

) _transport and saves the rest. If

“Karanja’s salary is shs.20 000 H(:n.isl.r =

" much does he sa\fe"f'

. A. shs.6.000.
‘B. shs.2000

30.

31.

C. shs.10000
D. shs.4 000 '

_On'a_. map whose scale is i:SO_ (}_IGO..a
piece of land is represented by a
rectangle 5cm by 3cm. Whatis the

~actual area of the land in heclares"
- A. 0.375ha ' '

B. 3.75ha
C. 37.5ha
D. 375ha

A motorist left Mombasa on Saturday
9: 30pni for a journey to-Malava. Ifthe

* journey tookexacﬂy 24 days, on. wim . |

day and time did hc:each Malava” |

~'A. Monday3:30am

B. Tuesday 3: SDam .
C. Tuesday 3:30pm

- - D. Monday 3:30pm

~32.. The diagtam below. sham an 1sosec!es
; tlangle whose pénmeter is 50cm
' i -

.- '_.meAC—lmeBC~l’?cm Whallsthe e

" araaofthetnangle‘?
A.: 240cm? _

- B.272em*

- C. 120cm? - -
D. 255cm?

- 33. _Orl_thel-inedrawri'helb".#consti'ui:t'a' i
B Palalleiogmm PQRS such that line. PS~

~~line QR = 6cm. Angle QPS= 65“ !

: ..~Dmpapcrpendmular E'Om pomt Sto K L .

.mectlmePQ axY

" Measure thc swe ofm@ePSY
A 1150

- B. 24°
- C. 156°
D. 34°




34,

The cash pricé of a generatoris

. .shs.24.000.. 'I'hehuepmchasepﬁcéls
- 25% morethanﬂwcashpnee Juma

bought it on hire purchase by pajnng

g 25% of the hlrcpumhasc priceas_

35.

A .
‘B.- shs, 900~ . -
C
D

deposit and the rest in 12 equal monthly
instalment. Howmuchwasench
instalment?

shs.1 875

'shs.1500

shs:1250 .

shs.2 500

SO

The table below 'shows the fares charged

by 2NK Sacco along Nairobi - Nakuru
rqule'. : : B

NAIROBI *

20 -NANASM

(2 GILG;-II_'.'.
| '-ﬁgp’o'-1so'—'-§o STMARY'S
o ) -40-_-PIPELINE

 Janet, her husband and their two sons
 travelled from Nairobito Nakerabut -~ §
stopped at St. Mary’s hospital to chéck :
~ ona friend and later continued with the -

journey to Nakuru. How much fare did
they pay in total lfthechlldrenpani haif
the fare? ;|

shs.1 140

. shs.1200 - -
. shs.1 260

1 40,

36.

Ifx=3 andy x+2 whatls the vah)e of-" '

3(x+...y) +2xy9 ,
13

A5y

R 33 :

37,

2

n 69

A cylmdrlcal tank has a dlameter of 0. ’?m B

and a height 2.1m. How many deCllltl'eS
of water does it holcl _when full? -

A 32340ﬂd}
“B.. 808.5d1
- C.-8085d/

. D. 3234df,_ _

-38.

\Sewnboysmlghed _ ' by

43, 41,47, x. 39, 41, 42 .
If the mean of their weight 1543 what 1s
the medzan welght‘? 5 :

A X

39,

L7

D. 39

Mu_pyé _p_ﬁid shsj._l"?:. 5_'-00 foraTV sél. :

‘after getling 10% discount. How much

~* would he have paid if he was allowed a

15% discount onthe same TV? . .
A. shs.12 750. S
B. shs.750

C. shs.15000.

~D. shs.1500

A cylindrical containerhasa

circumference of 88cm and a height of

20cm. What is the surface area of the
cylinder when closed? *
A. 1760cm? '
B. 1232cm?
C. 2376cm?
D. 2992em’




s 41'

“Thenet belowlx.h'ill be used to form a

A. Anopen rectangular-prism.

"..B: An.opensquare prism. .
.C.. A closed rectangular pyramld

" D. Aclosed mctangu_lar prism..

42.

Kyalo deposited shs.30,000 ina fi nanclal:_' :
- institution that gives mmplemteresi atthe

" rateof 5% p.a.. How much money was

43,

" year?

'-;‘:’-f{h ™ '?=-

in his: accounl at lhe end of the t.hmi

shs.4 500
shs:34 500
E shs.3 450.
shs.36 000

The areaofa réctangle is 120cm? What_ '.
is the length of its dlagonal if one of the s
sidesis8cm? _ s A

.- A. 17cm

44.

' hnc CD

B. ISGm

& o 32';1“
D. 24cml |

In the ﬁgure belowhne BE is pa.tallel o

.- Y w— :._ . B- C -"-450_
-Find the value of ang]eﬁy.' B
A. 105° - B. 60°

C. 45° - 'D. 750

45

I‘hmeclassescormbutedmoneyas s
follows to help purchase story books fol_' 2

__the library. Classsix contributed x-

" .'-f’ﬁhlllmgs Class seven contributed

: shs.3 200 more than class six. Clasé

.. eightcontributed shs.4 300 1¢ss than:
- 'wimbothclasssmandseven "
contribuled If a total of shs.19200 was -
_ coﬂnbined whichof the following - - :

équation can be used to get the value for

A. 4x-+5hs.4300 = shs.19200
B. 3x+ shs.2100 = shs. 19200

~ C. 4x +shs.2100=shs.19200 -

,D. 4:‘:' '—-_shs. 1_100, =shs. 19200

.:j Thc pnceofan arncle ina shop was
- shs9000. It was mcreased by 10% afid

later the price reduced by 20%. What is" -

the final price of_ the artlcie"

- A. shs.9900

. B. shs.7920

C. shs.10890

D hs 9720 '-

oar

.'Hn ﬁﬂlowmg are dmﬂenshcs of

- : quadrilaterals .
() All anglesare r:ghr angfes

(i) Diagonals bisect at right angle *-

(i) Onepa:rafparaffg{s:des_ L

-(iv) Diagonals not equal
). 'All sides are equal

5 i F(v)- Sum of mkﬂar angies adds up:o

-360°

T '::"P.ihmhof the cﬁamctenstlcs abﬂveare

: comonforhom{{hanbusanda

3 W

A.() (i) (W)

B @) Gv) v |
C. (iv) (V) (vi)’

- D. (i) () (vi) o




- poo1-5000 {190 - J2s0.

48 ‘The table below shows the eharges of 49 Smmllf}' ﬂwwlahty bdow .3 By
- smdmngneyuﬂngmoncyurdm- - :—.2 _ '_ ; 4p 5 5p+4 '

5 Range ¢ i | Orﬂ hmry E!’Pﬂﬁ o .
i o Muney Drde;M?ﬂe!f 0“’“ ] A P o ]3
Upo_2000-[125  f2i5 o It BIp<26
LT, p<l3 s

:;::_';D p>25 g =

R RS A P VWP ILL PR

QO()O = 30 000 _.4051. o o 530 e

P TRAR FYRE T y

_Chepng eno. semhe li}llowmg money
ordershs.13 5ﬂﬂﬂnough ﬂtdma!'y 5
- money order, shs.24 500-through
. express moneyefder How much moncy
~ did she pay at the: post ofﬁce‘?
" A. shs.865 '
B shs.38 365
+.C. shs.38000_ "
'D shs 33 746

4
O - R P Y AN T DU LS N SO

: | 50 The graph below shows.a jtmmcyby matatu from town X to town y a’.nd ba@k

At —

11
L

.
HIRLLT
mAR ;

 DISTANCE INKILOWETRES |

p
R o

,L_:_;:i-"- SR aT e ::.f‘fi*'f{_._ Sope
' Barn 8am 1Dam 12noon me 4pm $pm Bpm TN e
PR "TIME - - s A 5ot

Whatzsthe avemgespeedfortheretummumey" B o o R ol S
A, 22%km/h - B. 45%km/h - C.- 91;@:1}: "D mth T el

P s P S




